3. Composite Midpoint Rule:
(Theorem 4.6)

function integral = compmidp(a,b,n,f)
¢evaluate the integral of f from a to b
% use Composite Midpoint Rule

$Theorem 4.6

$check if n is even

if mod(n,2) ~= 0
disp('n must be an even number!')
return;

end

h = (b-a)/(n+2);

¢calculate the function values at all the midpoints
% sum them and multiple by 2h

X = [ath:2*h:b-h];

integral = 2*h*sum(feval(f,x));

Example 3.

>> f
f:
@(x)x. 4
>> compmidp(0, 2, 10, f)
ans =
6.252572016460904
>>g
g =
@(x)sin(x)
>> compmidp(O0, 2, 10, g)
ans =
1.422724381369655

(Those examples are from section 4.4. )



